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Solutions ———————————

Ll‘f'u T’IPLJE Qt—@‘m

1 CH , ChooSEI +he
R g N N S e N th“\‘ AnsSwer.

. What are the ﬁoh—pcrm\ss'.ble values
_$or +he rational expression _ A(x+2) 7

(x=3)X(x+1)
=> X-3#0 and '>.<+:L#O
XKEI X*=-1

Sl TTON: D

2. Sxm_F lify the rational expression
X+b for gll possible values of x-

X2=2x-24

:_—'_.) X'L"])(ig
X=9%~-04

= (X=-1)(x6)
e (xr4)

= (X=1) , X#6,~M
O )

SOLUTTON: B




precal11ch6PracticeTest2014.notebook May 15, 2014

m Solutions =-—-bse————

3. Simplify 38_4—%4,-% for all
permissible values oFy

= 8 + ;1;(_—;5‘_
3\/
= 4 +C’>O§£—- ES\/
D4y D4y 24y
=, S0ON*-1Svieht
2‘-%);

SoLUTTONS A

4. Sxmp\\Fy AX-12 + X-4 5 X#0 and X#4.

9x* K

= 3x-12. - X=4

gx2 3BX
= 30xH) X 3¢

Ax* Xtk

QX—
= 1 ,%%0

X

‘SQ A\ TTON o A
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5. Colve & =4 , t+3 and t#-4
| -3 _t+h4 .

| =3 4+ 444 | o
i XJCH)[ %’3] i [ t;\-er]

GL+4) 2l (=)
-12,

N
AN
+
N
L

oy )
I
(1_

W LT ]

SolUTToN: D.
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Solutions ————sseee———

1. Solve 2-_5 = %x+3
Y2=X—( X+2
= 85 = X3
(x—3)<x+2,) X+2
(x%\(xﬂv‘ Ly = =D+ | X437
C><~3)(><+2) | X+2. |
(=B A2 = BNxr2) [ =32 x+ L3]
LCX‘SUCXF\—
U)X +2) = 5 = (%X- 3) X+3)
2 (X2 2%-3%-G) -5 = X243X-3x-9
2 x> +“r><~é>x—l2-t‘>‘ = X*9
2X™= x —2)4 17+9 =
-2X~8 = O
O; 4)(x+2) = =
X Q or ><+2
x= ) ><=—2, yXF3,"2,

><><r\

U*rancous |
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